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Set-B

The two ends of latus rectum of a parabola are the points (3, 6) and (-5, 6). The focus is

(a) (1, 6) (b) (-1, 6) (c) 1,-6) (d) (-1, -6)
111 1+b 1 1
f —+—+—=0,then| 1 1+b 1 |isequalto
a b c
1 1 1+c
(a)o (b) abc (c) -abc (d) None of these

Ifa =?-2]+3R, 5=3?+]+2R, then the unit vector perpendicular to both 5 and 6 is

i+j+k i—j+k ~1+]j+k i—j+k
a) ——— b) ——— ) ————— d ———
(a) Ve (b) Ve ) Ve (d) Ve
The distance of the point (2, 3, 4) from the plane 3x-2y+2z+11=0 is
(a)9 (b) 20 (c)2 (d)1

The number of ways in which a mixed double tennis game be arranged between 10 players
consisting of 6 men and 4 women?

(a) 180 (b) 90 (c) 48 (d) 12
lim GLH is
x—0 X

(a) \L (b)| n_1 (c)=n (d)n

If ® is a complex cube root of unity, then the product (1—w+ w2X1—0)2 +(04X1—0)4 +m8)... to
2n factors is equal to

) 4\
(a) 4" (b) 47" (c) (4o) (d) (—]

The value of cot™ V1-sinx +1+sinx is
V1-sin x —+/1+sin x

(a) ;—X (b) 2m—Xx (c) ks (d) Tc—5

If X+Y =K is normalto y* =12X thenkiis
(@) 3 (b) 9 (c)-9 (d)-3

Four boys picked up 30 mangoes. The number of ways in which they can divide them if all mangoes
are identical is

(a) 2728 (b) 5456 (c) 5400 (d) None of these
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(11)  The coefficient of x* is (g-%) is
X
4 4 4
(a) Eoz (b) % (c) ZLG\'(; (d) None of these.

(12)  The number of paper subsets of the set {1,2,3} is
(a) 8 (b) 7 (c)6 (d)5

(13) Let A and B be two finite sets having m and n elements respectively. Then the total number of
mappings from A to B is

(a) mn (b) 2™ (c) m" (d) n™
(14)  The distance between the parallel lines 2X+3y—2=0 and 2Xx+3y—-4=0is
1 2 3
(a) V13 (b) — () —— (d) —
J13 J13 J13
(15) je'ogxdx is equal to
x? x>
(a) alog x e* (b) (c) ?+Iog X (d) >
3
S . Y 1: oy
(16)  The degree of differential equation | 1+| — =—7> s
dx dx
(a)1 (b) 2 (c)3 (d) 4
17)  If ‘&+B :‘&—B then
(a) & is parallel to B (b) & is perpendicular to B(c) ‘&‘ = B (d)None of these.
1 2 -1
(18) IfA=|-1 1 2 |thendet (adj(adjA))is
2 -1 1
(a) (14) (b) (14) (c) (14) (d) (14)°
(19) If A=sin®>0+cos" 0, then for all values of 0, we have
(@) 1I<A<?2 (b)%ﬁASl () 0<A<1 (d)%SAS%

(20) lim ! + 2 +..+ n is equal to
el 1-n?  1-n? 7 1-n?



1 1
(a)o (b) — (c) E (d) None of these.

ANSWERS:
1. (b), 2. (), 3. (¢), 4. (d), 5. (2), 6. (<), 7. (a), 8. (d), 9. (b), 10. (b), 11. (a), 12. (b), 13. (d), 14. (c),
15. (d), 16. (b), 17. (b), 18. (d), 19. (b), 20. (b)



